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(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.018 - 0.405 0.061 &
LA i 1.512 0.000 - 0.525 0.069 =
/L4, (HCI) 4.545 0.002 - 0.201 0.131 =
mIbE (HF) 0.306 0.004 - 0.084 0.040 =
— &b (SO2) 15.147 0.039 - 3.752 2.129 =
—4& kbR (CO) 7.578 0.010 - 0.269 0.084 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.462 - 8.200 1.297 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.040 - 0.096 0.060 &
LA 0.756 0.029 - 0.137 0.069 =
Z/LE (HCI) 0.756 0.065 - 0.169 0.129 s
wAbE (HF) 0.072 0.020 - 0.048 0.039 s
— &b (SO2) 3.789 1.840 - 2.716 2.136 =
—&Ei% (CO) 3.789 0.050 - 0.165 0.083 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.892 - 3.130 1.322 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.0059 &
IR R g ) 7.575 x 107 <6.591 x 1010 =
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Y& AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.002 - 0.019 0.005 &
LA i 1.512 0.000 - 0.515 0.091 =
/L4, (HCI) 4,545 0.027 - 0.208 0.129 =
mIbE (HF) 0.306 0.004 - 0.057 0.035 =
— &b (SO2) 15.147 0.004 - 5.770 2.101 =
—4& kbR (CO) 7.578 0.010 - 0.180 0.078 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.263 - 6.351 0.924 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.003 - 0.006 0.005 &
LA 0.756 0.034 - 0.195 0.091 =
#F/bE (HCI) 0.756 0.101-0.181 0.129 s
wAbE (HF) 0.072 0.027 - 0.044 0.035 =
— &b (SO2) 3.789 1.797 - 2.442 2.101 =
—&Ei% (CO) 3.789 0.048 - 0.128 0.078 =
HAY (NOx)
DL E/EE (NOY) 15.147 0.514 - 1.540 0.928 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0049 &
IR R g ) 7.575 x 107 <5.494 x 1010 =
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Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.005 - 0.106 0.016 &
LA i 1.512 0.016 - 0.268 0.054 =
Z/LE (HCD 4,545 0.019 - 0.167 0.102 TE
mIbE (HF) 0.306 0.002 - 0.059 0.032 s
— &b (SO2) 15.147 0.079 - 2.909 1.743 =
—4& kbR (CO) 7.578 0.000 - 0.162 0.071 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.352 - 6.725 1.073 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.011 - 0.034 0.016 &
LA 0.756 0.019 - 0.077 0.055 =
/L4, (HCD 0.756 0.067 - 0.140 0.102 =
wAbE (HF) 0.072 0.022 - 0.040 0.031 s
— &b (SO2) 3.789 1.319 - 2.570 1.743 =
—&Ei% (CO) 3.789 0.018 - 0.107 0.071 g
HAY (NOx)
DL E/EE (NOY) 15.147 0.512 - 4.452 1.072 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0004 =
S SE VAR 0.003789 <0.0017 =
R A 0.0378 <0.0076 &
IR R g ) 7.575x 107 <8.264 x 1010 =
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